U x = J a3

hot  a ecmvesr  sek

(k= (2 ex
Qw O >0,5P0 ~4
e i 5 |
3”3:02« 0] _ /}”_J\j‘:‘__‘—
omd vy

V= (2,0) ¢ X ar de=sp=—=rt"

O =3 =—9 >ﬁ- :7_1.-':_.4

TF we choow A= 0.
Then AR comvex combine o
We Aut (1-2)v
=65(0,7) 4+ 0.5 (2,0
= (o, + 0,5= ¢, 1 5)
| Now |67 trS—B:-w-??;—l

S0 W %X

Henee % /o Aot a convex Sof.

V‘_'“"""—"'—-——-w.....;____

Scanne d with CamScanner




LB X e Il 0} ia
Mvt ¢ corver  Sak

M0 e fred us(O,Q,/o,@ € R
o, O—b—4k 07 0.6 £\, 0.4 < |
O.b Xo-4=0.2450

pd = (0.5, —0.3) €% &~

—p 5 <)land (—o05D(-0 3)
= 0.2%y 4@

Bu f we chome B =0-5
S Dbz PYManh  Trean fadi
CMVEN Ccombtrabron LA
we Ay + MDY= 050+ 0.6
= 0.5 (u-+Y)
N\ :
=0.5
CO.l/«—o.B
= (0.05,~0.05 )
Now o5 0.056 <), —0.05<|
Ad—0.05XD.0T = —0 009T
S50 4)(

Hewes X (p nit c Connve ) Cof

Scanne d with CamScanner



